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1741114]184|(136]168|132|168|[139(175|106|175]|133|175(117|172||128|177|127(178||142|169]|124[169||HJ [UDE|Total|Kampe|Plac
Gislev 2 12 8] 20 12| 1
Tanderup jagtf. 2 0 2 12| 7
Sgllested-Vedtofte jagt 4 5 9 12| 6
Asperup/Roerslev 2 4 6] 10 12| 5
FFK 3 6 8| 14 12| 3
Odense 4 5 6] 11 12| 4
0
Strandagers sidste hab TUK 2 2 2 10| 8| 18 12| 2
Total duer Gennemsnit
Gislev 2 1579 131,6
Tanderup jagtf. 1421 118,4
Sollested-Vedtofte jagtf 1568 130,7
Asperup/Roerslev 2 1486 123,8
FFK 3 1556 129,7
Odense 4 1517 126,4
Strandagers sidste hab 1453 1211



